BPEALIC L DR DR R

[PPRB0MET T 47 ] MM SR ST %%

A SAT B A R AR A P H RS

ARENOHE
T, B UL LN 2 WA R D K4 R D " . BRI F T O K4 o p - p = MRS - A S O5) o " Sk
BB O S BT 5 Z AL P e RRVEMRE LR PR RREFH OUEAES (2 ATHIH % 0> T i) T i i AL FE— L
axgsirAoRsy | SR - s
T
NP, . B - T H AR o
{# 5 o0 T A T E 0 IR BE IR L S SR " () URY 7 —v — MR 4 A AL
myes RS RS EHB0ETAIA = L 3010001088790 e : 10, 013, 5321 32, 400, 0001 81.0%
[ E 2 KRR AR o X A2 B 1 — B RKAAR L -5 -3 (kB R A 7 5
6—85
T LR
< = - (#) UR= I a=7 1 TR
[UR=I=2=7 1] URGHETHIK
| ! Ebr—F . AABA A (8) — S AL
FEIE RS OF TRACETE Hifth 2 1 [ F s FREB04ETA 24 A Sera T R phmRar 1 — o |2010001033375 (R B 50 42, 122, 405/ 39, 728, 5641 94.3%
KB v ot 7 T LT 1 — 4
-2
HTZREH
(B) UR=Z X a=7 1 THfE
[UR= 227 1] UREHESHKT |[Fvtry—R - A AR A AN (BR) — R4 A AL
R (TEREAME 1 3 @) | % FRE304ETA 24 A oA T Kk mRAr 1 — o |2010001033375 (R B F 50 27, 502, 340/ 26, 020, 5531 94.6%
KB 2 v ot 7 T LA 1 — 4
-2
T LR
(B) UR= X a=7 1 THfE
[UR==2=7 ] UREHESHIK |[Fvtry—FR — A AR A AN (BR) — MR 4 A AL
R (RRSELL L 6Fm) | % THSOFTA2AR g T o s mgey 1 — g [2010001093975 (e AT 1) 95, 763, 9741 36,096,547 94.7%
KRBT v ot 7 T LT 1 — 4
-2
T ZREH
< = - (#) UR= I 2=7 1 KIKfE
[UR=I=2=7 1] URGEETHIK
| (I uRITUHE Fbra—F . AABA A (8) — S AL
ffg@%g<”' R R FU A FHR304ET A 23 R TG bk By 1 — o |2010001033375 (oA 550 19, 404, 3601 18, 185, 5571 93.7%
KB KRB X 2 & 2 —
9-204
T ZREH
(#) UR= I a=7 1 KIKfE
[UR=2=7 ] UREHESHIK [Tt y—FR - A AR A AN (BR) — MR 4 A AL -
R (M AR 2 1 ) |FE D FRE304ET A 23 A Sera T K phmRar 1 — o |2010001033375 (R B 50 25, 533, 3601 23,731, 715[1 92.9%
KB KRB K 2 s 2 —
9-204
T LR
(#) UR= I a=7 1 KKfE
[UR==2=7 ] UREHESHEK [Tt y—R - A AR A AN (BR) — MR 4 A AL
R GERIIFRG 1 AR [HE D THSOFTA2R g T o s gey 1 — g [2010001093975 (e AT 1) o1, 4143, 36013 31,689, 0380 - 92.0%

KRB R IR AT AR 2B 2 —
9-204




BPEALIC L DR DR R

[PPRB0MET T 47 ] MM SR ST %%

A SAT B A R AR A P H RS

AWENOBE
TH. E U BEAFR O B E O RO D . T H DA IR W - $64 B OB - ) e
BB O S BT 5 Z AL P e RRVEMRE LR PR RREFH OUEAES (2 ATHIH % 0> T i) T i i AL FE— L
. BRI ey
aggiraowsy |HTE BEI g e
BRI
N = . (B) UR= 2 2=7 ¢ gdufE
(UR=32=7 (] UREseampk |0 UR? . R A AT (H) — 4 AL
R (R 9 1) TLaE FHIOETNZR |y T Cmicm gy 1 — o |2010001083375 (B AT ) 26,520, 6061 33, 814,5450 | 92.6%
KB P 1 — 1
BRI
(UR=32=7 (] URGHEERIK | () UR=S2=7 ¢ flf:
’ R : R A AT (H) — B AL
HEIERES (s B9 M 2 6 H E AN FRR304ETA 23 A L " 3010001033375 A o 38,283,617 36, 027, 8351 94. 1%
N R4 Rl SO TG AR ST 1 — 9 (KB FE AT J5 ) °
KB P AT 1 — 1
BRI
- . () UR= S ==7 1 RilLft
(UR=32=7¢] UREsampk |0 UR? . AR A AT (H) — 4 AL
R (R 1 2 F ) i;t;‘éluﬁ FRR304ETA 23 A SR T [ B R SRET 1 — 9 3010001033375 (DI L) 37,835,426 35,019, 4811 92.6%
KBRS 1 — 1
EHRAE
N - (W) UR= S 2=7 ¢ iift
[UR=3==5+¢] URESEEEHDK N o —
WIS (L% 27 4 W e 1 iit%” & T304 24 1 ;ﬁaﬁ%%ig#é@w Lo [201000103575 ('f\g%ﬁ%i&) 12, 246, 12071 11,843,7830 | 96.7%
9 b B o i T —
1—15
EHRAE
(W) UR= S 2=7 1 iiift
(UR=32=7 (] URSGREERIK |£00vs 5 —R . R A AT (H) — 4 AL
EEWREE (SO 2 2 ) JEE FRR304ETA 24 R SR T [ B R SRET 1 — 9 3010001033375 (8B AT ) 64, 392, 84017 60,073, 77501 93. 3%
RS T o 3 7 —
1—15
EHRAE
(W) UR= S 2=7 1 Riift
(UR=32=7 (] URSGREERIK |£00vs 4 —R . R A AT (H) — 4 AL .
GRS (GUAF TR s ) L FHIOETNZR |y T micm gy 1 — o |2010001083375 (B AT ) 25, 811, 9601 33,520,370 93.6%
RS T o 3 7 —
1—15
BRI
(UR=32=7 (] URGRAEERIK | () UR=S2=7 ¢ Bk . s
BEERES (=2 vT 1 5nbVnoE |F0ErI—F FHR304ET ] 20 A ;fﬂigggéﬁgml—s 3010001033375 <MA§§§%> 11,950, 11919 11, 166, 6267 93.4%
LM 4 [) HM R ” ’ B -

SEHUL R IR @ 3 — 9 5




BPEALIC L DR DR R

[PPRB0MET T 47 ] MM SR ST %%

A SAT B A R AR A P H RS

INTTICT TS
T R X AT R0 RIS RO RO D . RN TFHORA, . s G - 1 DR - . -
R O BT S5 i e RRERAE LR Rk RIHFH OUAES (R AT DK ) VI A L . i
axgsirAoRsy | SR - s
I
. . () UR =< =27 ¢ Bt

[UR=S==7 ] URaspemmk | UR> . RABAEAT () — e AL .

R (R 1 5 H) ibﬂ]t;; =3 ERR304ETA 20 A SR T [ B R SRET 1 — 9 3010001033375 (8B AT ) 10, 054, 8761 9, 488, 2621 94. 4%
SEHUL R IR @ 3 — 9 5
I

[UR=S==7¢] URSFEEMIEA | () UR=S==7 (B " ——

HEEREE LE 7 —ARFINE -5 |Ekr s —F EAR304ETA 20 ;?;i%%g@ﬁ%ml—s 3010001033375 (%égzgi) 18, 595, 66611 17,243,5911|  92.7%

FH AL 1 9 [

SFH
ST R IR A FE 3 — 9 5




